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|General English Language - General English Language

Question No.1

Fill in the blanks with suitable Preposition from the given alternatives.

Centre approves the construction of buds Kaleswaram project.
(A) O under (Correct Answer) (Chosen option)

(B) O since
(C) O by
(D) O about

Question No.2

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

A list of explanations of rare, technical or obsolete words
(A) O Antonym

(B) O Synonym
(C) O Glossary (Correct Answer) (Chosen option)
(D) O Acronym

Question No.3

Fill in the blanks with suitable Article from the given alternatives.

| experienced euphoric feeling after winning the game.
(A) O a(Correct Answer)
(B) O an

(C) O the (Chosen option)
(D) O No article

Question No.4

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

Accidental good fortune
(A) O Fluke (Correct Answer)
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(B) O Brood
(©) O Shell
(D) © Accomplice

Question No.5

E
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct’.

The US Federal Reserve recently signalled a major shift in its approach to managing
inflation in a bid to aid the country’s economy’s recovery.

(A) © an major shift in its approach to managing inflationin a
(B) O an major shift in its approach to managing inflation in an
(C) © amajor shift on its approach to managing inflation in an

(D) O The given sentence is correct (Correct Answer) (Chosen option)

Question No.6

Choose the word which best expresses the similar meaning of the given word "
SUBSTANTIAL ",

(A) O Miniature

(B) O Selfish

(C) O Insignificant (Chosen option)
(D) O Important (Correct Answer)

Question No.7

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

A book written by an unknown
(A) O Extempore

(B) O Beneficiary
(C) © Anonymous (Correct Answer) (Chosen option)
(D) O Orator

Question No.8

Find the word which is correctly spelt from the given options.
(A) O Unaffected (Correct Answer) (Chosen option)

(B) O Jubilent
(C) O Ephimeral
(D) O Garulous

Question No.9

Find the word which is correctly spelt from the given options.
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(A) O Gradiant (Chosen option)
(B) O Asimilate

(C) O Observant (Correct Answer)
(D) O Mithical

Question No.10

Fill in the blanks with suitable Article from the given alternatives.

My friend was FBI agent in his early age.
A) O a

(B) O an (Correct Answer) (Chosen option)

(€) O the

(D) O No article

Question No.11

B
Choose the word which best expresses the similar meaning of the given word " PLUNGE

"

(A) O Fall (Correct Answer)
(B) O Ascent
(C) O Rise

(D) O Rough

Question No.12

E
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct’,

Very few clubs around a world may have afford the Argentinian superstar.
(A) O clubs around the world must (Chosen option)

(B) O The given sentence is correct

(C) O club on the world could

(D) O clubs around the world could (Correct Answer)

Question No.13

E
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct’.

The best indicators of a university’s performance_is the learning outcomes and how its
education has impacted the students and society.

(A) O The given sentence is correct

(B) O was the learning outcomes and how (Chosen option)
(C) O is the learning outcomes and what
)

(D) O are the learning outcomes and how (Correct Answer)
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Question No.14

B
Replace the underlined phrase grammatically and conceptually with the help of the given

options. If the given sentence is correct then select the option 'The given sentence is
correct'.

(A) O passed away on Friday after a long battle on
(B) O The given sentence is correct

(C) O passed away in Friday after a long battle on
(D)

O passed away on Friday after a long battle with (Correct Answer) (Chosen
option)

Question No.15

B
Find the word which is correctly spelt from the given options.
(A) O Notorious (Correct Answer) (Chosen option)
(B) O Eloquant
(C) O Incorigible
(D) O Denomnation
Question No.16
B
Fill in the blanks with suitable Article from the given alternatives.
___bread is the predominant food prepared from a dough of flour and water.
(A) O (Chosen option)
B) O
(C) O the
(D) O No article (Correct Answer)
Question No.17
B
Choose the word which expresses nearly the opposite meaning of the given word "
BLISS "
(A) O Happiness
(B) O Rapture
(C) O Paradise
(D) O Sorrow (Correct Answer)
Question No.18
B
Fill in the blanks with suitable Preposition from the given alternatives.
India's new data localisation provisions make it mandatory foreign
companies to store personal data of their users and customers in India within the Indian
territory.

(A) O for (Correct Answer) (Chosen option)
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(B) O behind
(C) O about
(D) O of

Question No.19 Marks:

Bookmark
Fill in the blanks with suitable Preposition from the given alternatives.

A tablespoonful peanut butter contains almost 100 calories.
(A) O to

(B) O of (Correct Answer) (Chosen option)

(C) O between

(D) O since

Case Study - 20 to 24
Directions: Read the passage carefully and answer the questions that follow.
Finland’s education system boasts of giving hardly any homework to its kids. In fact most kids
believe that they can complete their homework in less than half an hour. The teachers and the
principals support this lack of homework as they believe that students have other things to do
which are equally important. Sports, socialising, being with family and even exploring their
backyard are considered to be very important in a student’s life.

Finnish students spend the least amount of time in school than students from other parts of the
world. On average Finnish students only spend three hours and forty five minutes in school which
includes lunch time. This is again supported by the fact that students have a life outside school. It
is stated by Finnish teachers that students have to learn and not study and hence socialisation,
sports, exploration etc. are part of learning.

Question No.20 Marks:

Bookmark
What is the tone of the author?

(A) O Emotional
(B) O Laudatory (Correct Answer)
(C) ©O Humorous (Chosen option)
(D) O Sarcastic

Question No.21 Marks:

Bookmark
What do the teachers and the Principal in Finland consider to be very important in
students life?

(A) © Homework

(B) O Socialising (Correct Answer)
(C) O Household chores

(D) O All of these (Chosen option)

Question No.22 Marks:

Bookmark
Why do Finland education system hardly gave any homework to its students?

(A) O The kids will be tired
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(B) O They believe that kids have other equally important things to do (Correct
Answer) (Chosen option)

(C) O Children don't have live outside school
(D) © They must do the household chores

Question No.23

Statement 1: Finnish education system denies the fact that the students have a life
outside school.
Statement 2: Finland's education policy is that the students have to study rather than to
learn.
(A) O Statement 1 is true and statement 2 is false (Chosen option)
(B) O Statement 1 is false and statement 2 is true
(C) © Both the statements are true
(D) O Both the statements are false (Correct Answer)
Question No.24
B
According to the passage, what does the word 'socialisation’ mean?
(A) O Animosity (Chosen option)
(B) O Hatred
(C) O Social Distancing
(D) O Integration (Correct Answer)
Question No.25
B
Choose the word which expresses nearly the opposite meaning of the given word "
SLENDER".
(A) O Heavy (Correct Answer) (Chosen option)
(B) O Narrow
(C) O Fragile
(D) O Spare
Odia Language - Odia Language
Question No.1
o B‘
641 gEIQ Jml 1 - QIRYER Q1 'FEIR 606 FAT ?
(A) O ol
(B) O agm
(C) O «q1 (Correct Answer) (Chosen option)
(D) O agen
Question No.2
B

'?Q2I' - 610Q SAGE 61Q /'8 ?
(A) O @82l (Chosen option)
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(B) O @ee4Rq
(C) O amgal
(D) O eg@al (Correct Answer)

Question No.3 Mar

Bookm
0Q et ogia & |

(A) O Gaudidlien (Correct Answer)
(B) O {auersian

(C) O Faumaian

(D) O RaiFslél (Chosen option)

Case Study - 4to 8
(3921 QIFQ 9@ 691 QRRER REY QIR QIFELY 609 RIOEAIR FQ1 6 BYAIT FIIER G Y 96 Y

QBgeR | 921 TRER @BEQ AIPZIGYR 66IRQE AIRRTIR JOsRIN FUINIRAIRERI | IR 61 ZITEIQ
AFIQAIRG g 60R 67ITIR- 6ARINR FIRT RR G OIF 4@ REIOR T°9@ U9 AIPRE JOS 6FIER-6ARINGE
Q6aIIER IO ORIRA 6FITRRIPRTG 24 FAUNINZEA YRl AIRI AIFIDY 62Q | 66IE6Q AFIC PR
P60 IR QR FAULIR AUFEY 609 AARIRE QP JOgIQ IR SRININIER CIFa 2IRJAGY 6FIGIR-
QQEIRIF QIal 190 6LIRYM |

Question No.4 Mar

; Bookm
RIO6AIR B 2QAIT FUER 696 AIRY JOY FAIIRSRI?

(A) O ¢ (Correct Answer) (Chosen option)
(B) O 66IRGEY
C) O ereqey
(D) O Qoued

Question No.5 Mar

Bookm
gaRIER QPSR 2RIA64] & Q195 60a2j6m?

(A) O xR QSR

B) O 6eFIRIF QR

(C) O gar Qe

(D) O seflGM QIQENLI (Correct Answer) (Chosen option)

Question No.6 Mar

Bookm
AAOQ QIEG lagalle Gcﬁlaqj A0 QAIRYER 21, cRRem?

(A) O 6AIERAIRE 990 996! Aal Al
(B) O 2IFele 9LI0 Q6 dQIee 6291 641G
(C) O 6AIGIRAING AR @& AR (Correct Answer) (Chosen option)
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(D) O 2ITeIQAIeg gosak @8I IR

Question No.7

QAR QFILEQ 6¢1l6Im QIQELI AN glem?

(A) O Qleq

(B) O 21eea (Correct Answer) (Chosen option)
(C) O qpdee

(D) O QLN

Question No.8

AIREe@ @?

(A) O QIFeQ 60w @

(B) O aigaln gl

(C) O sfligim 6aRIAG (Correct Answer) (Chosen option)
(D) O AQa 619

Question No.9

'60QQI- F19Q AAIFIEIRIA FQT @61 ?

(A) O e

(B) O Qegie

(€) O «laa

(D) O &6 (Correct Answer) (Chosen option)

Question No.10

AR @ IR ER ?

(A) O age

(B) O am

(C) O ogel (Correct Answer)
(D) O ow@

Question No.11

'ARQART- 626 AFIA ?

(A) O ©@ gqd (Chosen option)
(B) O @I

(C) O a2y

(D) O Q@@ (Correct Answer)
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Question No.12

‘AR @ AP QT saa ¢l O ?

(A) O ag @°as 8¢ @8eI (Correct Answer) (Chosen option)
(B) O 2R J% arlcl a@al

(C) O gip@ oael

(D) O gl Q%96 @ 6ai@al

Question No.13

QUIQIRER @AY TR F66' | - AR16Q 29I '9dIRIRER 6RQ A0 ?
(A) O @o1gy

(B) O agm

(C) O <age (Correct Answer) (Chosen option)

(D) O Goy

Question No.14

‘TR - 61QQ ITAS 6@ @'él?

(A) O @ea (Correct Answer) (Chosen option)
(B) O da1@

(C) O am

(D) O esl0

Question No.15

'gea'a giaer @'6l ?

(A) O edliedyaa

(B) O gén

(C) O gealQR1

(D) O gea1 (Correct Answer) (Chosen option)

Question No.16

'06m JRIRQI- QPR 6@ 22 O ?

(A) O org gee 6aql

(B) O 06 6CIAIG6RR

(C) O o QA 629!

(D) O aeiey @&QI (Correct Answer) (Chosen option)

Question No.17
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D4 F661AEI60 606 ARG 99 ?
(A) O @e1al (Correct Answer)
(B) O agm

(C) O asgen

(D) O @gél (Chosen option)

Question No.18

Qe QG- QPR 6ae 28 O ?

(A) O Qg QUGFERR|

(B) O @&fl Qigig ARGl

(C) O QI¢ Q&Fl @2l *8Q

(D) O @easl @@QI (Correct Answer) (Chosen option)

Question No.19

‘AR @ URIQ 618 ?

(A) O 636060

(B) O 6@él@ (Correct Answer) (Chosen option)
(C) O 2agea

(D) O dR

Question No.20

VAR’ - 61RQ AARG 61 @'81 ?

A) O 4afQ (Correct Answer)
B) O 2@ae

C) O aae

(
(
(
(D) O 21ge

Question No.21

P61 FUQ 6R6E AR 619?

(A) O dliel
(B) O oagal
(C) O @Il (Correct Answer) (Chosen option)
(D) O Tel

Question No.22

PAN' - 69Q QA ?
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A) O adiiog
(B) O eQge¥
(© O gq

(D) O a4 (Correct Answer)

Question No.23

0 a6 0gia @2 |
(A) O agsagay
(B) O agsaiqéay (Correct Answer)
(C) O agsaaga
(D) O agaiegey

Question No.24

'O 606 Qe ?

(A) O gege

(B) O @g91@

(C) O @g (Correct Answer)
(D) O @¢kIag (Chosen option)

Question No.25

'GI6P - QR AAITERRIR S1RT Q'61 ?
(A) O aed

(B) O QQQI@

(C) O deaye

(D) O ®IgQ1(Correct Answer)

General Knowledge - General Knowledge

Question No.1

Who summons, prorogues, addresses, sends messages to the Parliament of India?
(A) O The Prime Minister of India

(B) O The President of India (Correct Answer) (Chosen option)
(C) © Chairman of Rajya Sabha
(D) O Speaker of Lok Sabha

Question No.2

Odishais ____ most populated state in India as per census of 2011.
(A) O 14t
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(B) O 11t (Correct Answer)
(C) O 13™ (Chosen option)
(D) O 12t

Question No.3

According to Dr. B.R. Ambedkar, the
Constitution.

(A) O Rajya Sabha / Upper House
(B) O Lok Sabha / Lower House

(C) O Directive Principles of State Policy (Correct Answer) (Chosen option)
(D) O Citizenship Charter

is a ‘novel feature’ of the Indian

Question No.4

Where will the 15" meeting of Conference of Parties to the Convention of Biodiversity be
held ?

(A) O Kunming, China (Correct Answer)
(B) O Goa, India (Chosen option)

(C) O Frankfurt, Germany

(D) O Davos, Switzerland

Question No.5

Which one of the following national parks is located in the state of Uttarakhand?
(A) O Similipal National Park

(B) O Manas National Park

(C) O Jim Corbett National Park (Correct Answer) (Chosen option)
(D) O Dachigam National Park

Question No.6

Who among the following publishes the 'Global Climate Risk Index'?
(A) O Germanwatch (Correct Answer)

(B) O International Union for Conservation
(C) O Green Peace

(D) O United Nations Environment Programme (Chosen option)

Question No.7

Who is the Chairman of the 'Fifteenth Finance Commission' ?
(A) O Dr. Vijay L. Kelkar

(B) O Dr.Y.V. Reddy
(C) O Raghuram Rajan
(D) O N.K. Singh (Correct Answer) (Chosen option)

JoinUs-‘ > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World App

WtsApp/Call- 8596976190

Question No.8

Who among the following publishes the 'Food Price Index’ ?
(A) O Food and Agricultural Organization (Correct Answer)
(B) O International Food Policy Research Institute

(C) O World Economic Forum (Chosen option)

(D) O Food Safety and Standards Authority of India

Question No.9

River Yamuna joins Ganga at 3
(A) O Prayagraj (Correct Answer) (Chosen option)
(B) O Kolkata

(C) O Badrinath
(D) O Haridwar

Question No.10

Which of the following temples was built by the Somavamsis?
(A) O Vishwanath Temple, Madhya Pradesh (Chosen option)
(B) O Lingaraja Temple,Odisha (Correct Answer)

(C) © Chausath Jogini Temple, Madhya Pradesh

(D) © Konark Sun Temple,Odisha

Question No.11

King Kharavela of Kalinga was an ardent follower of
(A) O Buddhism

(B) O Saktism

(C) O Jainism (Correct Answer) (Chosen option)
(D) O Saivism

Question No.12

How do we call the central stretch of the West Coastal plains of India?
(A) O Gujarat Plain

(B) O Konkan Plain (Chosen option)
(C) O Malabar Plain

(D) O Kannad plain (Correct Answer)

Question No.13

Which one of the following is caused due to excess nitrate in drinking water?
(A) O Carpal Tunnel Syndrome

(B) O Blue Baby Syndrome (Correct Answer) (Chosen option)
(C) O Barlow Syndrome
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(D) O Alport Syndrome

Question No.14

Social, Economic and Cultural Rights are also called as
(A) O Second Generation Rights (Correct Answer)

(B) O Fifth Generation Rights
(C) © Third Generation Rights
(D) O First Generation Rights

Question No.15

Fakir Mohan Senapati's Autobiography '‘Atma Jivan Charita' was published in which year”

(A) O 1927 (Correct Answer)
(8) O 1947
(©) O 1939
(D) O 1934

Question No.16

Which of the following festivals acts as the reminder of the ancient glorious maritime

trade traditions of Odisha?
(A) O Car Festival

(B) O Chhat Puja

(C) O Baliyatra (Correct Answer) (Chosen option)
(D) © Maa Sholapuri Puja

Question No.17

Articles 29-30 of the Indian Constitution deals with

(A) O Cultural and Educational Rights (Correct Answer)
(B) O Right to Property (Chosen option)

(C) O Right to Constitutional Remedies

(D) O Right against Exploitation

Question No.18

The concept of "Directive Principles of State Policy" in the Indian Constitution was
borrowed from the:

(A) O French Constitution
(B) O Canadian Constitution

(C) O Irish Constitution (Correct Answer) (Chosen option)
(D) O British Constitution

Question No.19
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Which dynasty succeeded the Tuluvas to the throne of Vijayanagara empire ?
(A) O Gajapati Dynasty

(B) O Aravidu Dynasty (Correct Answer)

(C) O Saluva Dynasty (Chosen option)

(D) O Sangama Dynasty

Question No.20

Who was the guru of Swami Vivekananda?
(A) O Rabindranath Tagore

(B) O Ramakrishna Paramahamsa (Correct Answer) (Chosen option)
(C) O Mahatma Gandhi
(D) O Shri Narayana Guru

Question No.21

The 'World Sustainable Development Summit' is the flagship event of :
(A) O Ministry of Environment, Forest and Climate Change

(B) O The Agency for Non-Conventional Energy and Rural Technology
(C) O The Energy and Resources Institute (Correct Answer)
(D) O NITI Aayog (Chosen option)

Question No.22

The Balimela reservoir constructed on the river.
(A) O Sileru (Correct Answer)

(B) O Macchakund (Chosen option)
(C) O Koel
(D) O Tel

Question No.23

Who among the following developed the SAATHEE portal?
(A) O Geological Survey of India

(B) O Bureau of Energy Efficiency (Correct Answer)
(C) O NITI Aayog
(D) O Petroleum Conservation Research Association

Question No.24

Dhanu Yatra is organised in which of the following towns of Odisha?
(A) O Koraput

(B) O Gopalpur
(C) O Bargarh (Correct Answer) (Chosen option)
(D) O Dhenkanal
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Question No.25

Who wrote 'Buddhacharita, the biography of Buddha?
(A) O Panini

(B) O Ashvaghosha (Correct Answer) (Chosen option)
(C) O Megasthenes

(D) O Kalidasa

Question No.26

Who is the originator of Odia literature?
(A) O Upendra Bhanja

(B) O Balarama Dasa

(C) O Sarala Dasa (Correct Answer) (Chosen option)
(D) O Bhima Bhoi

Quantitative Aptitude - Quantitative Aptitude

Question No.1

The average of 173 lab readings was 69 units. Later on it was found that a reading 242
was wrongly typed as 69. Find the correct average.

(A) O 72
(B) O 70 (Correct Answer) (Chosen option)
(C) O 68
(D) O 74

Question No.2

If a bus travels from city A to city B with a speed of 585 kmph and another bus travels

from city B to city A with a speed of 495 kmph, find the relative speed when both the
buses cross each other.(In m/s)

(A) O 294
(B) O 300 (Correct Answer)
(c) O 298
(D) O 296

Question No.3

What value should come in the place of question mark (?) in the following question?
9.5%(18%2.5%3.5%x28)+9 = ?

(A) O 4755
B) O 4555
(C) O 4455

(D) O 4655 (Correct Answer) (Chosen option)

Question No.4
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Average of 11 consecutive numbers is 546. If the average of 15! 5 numbers is 543 and
the average of last 5 numbers is 549, find the middle number.
(A) O 544
(B) O 542
(C) O 548
(D) O 546 (Correct Answer) (Chosen option)
Question No.5
B¢
Pipe A can fill a tank in 384 minutes and Pipe B can fill the same tank in 768 minutes. If
both pipes are opened together, how many minutes will it take to fill the empty tank?
(A) O 254
(B) O 258
(C) O 256 (Correct Answer) (Chosen option)
(D) O 260
Question No.6
B
Find the average of arithmetic progression whose first term is 2379 and the last term is
4601.
(A) O 3490 (Correct Answer) (Chosen option)
(B) O 3790
(C) O 3690
(D) O 3590
Question No.7
B¢
Find the value of X:
VX x 228 = (23679-23451)x29
(A) O 961
(B) O 841 (Correct Answer) (Chosen option)
(C) O 900
(D) © 1024
Question No.8
B
The average of 53 numbers is 199. After excluding one of the numbers, the average
remains the same. Find the number which is excluded.
(A) O 195
(B) O 197
(C) O 199 (Correct Answer) (Chosen option)
(D) O 193
Question No.9
B¢
A can finish a work in 276 days and B can do the same work in 552 days. Working
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together, they will complete the same work in how many days?
(A) O 182

(B) O 186

(C) O 184 (Correct Answer) (Chosen option)

(D) O 180

Question No.10 Mark

Bookma
What value should come in the place of question mark (?) in the following question?
(1/55)x25080+1/62(8308) = ? x 295

A)O 4
B) O 1
(O 3
(D) O 2 (Correct Answer) (Chosen option)

Question No.11 Mark

Bookma
If Ramesh distributed 2247 chocolates from a box of 5350 chocolates, what percentage
of the chocolates will be left in the box?

(A) O 61
(B) O 59
() O 60
(D) O 58 (Correct Answer) (Chosen option)

Question No.12 Mark

Bookma
After 5148 liters of petrol were poured into the tank, it was still 12% empty. What is the
total capacity of the tank?(In liters)

(A) O 5650
(B) O 5850 (Correct Answer) (Chosen option)
(C) O 5550
(D) O 5750

Reasoning Ability - Reasoning Ability

Case Study - 1to 3
Read the given information carefully and answer the questions that follow.

Seven friends M, N, O, P, Q, R and S sit in a straight row. Out of seven, some face north and some
face south, not necessarily in the same order. The number of people facing South is more than
the number of people facing North.

a) N faces the direction opposite to that of R and Q, who faces the direction same as that of its
neighbour, S.

b) N is the neighbour of neither S nor P. Q is the not the neighbour of M.

¢) P and R sit at the extreme ends of the row.

d) There are exactly three people between N and M.

e) The people sitting at the extreme ends of the row face different directions.

f) S sits third to the left of R.

g) People sitting at the either sides of O, face the same direction as that of 0.
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Question No.1

Who sits exactly between R and Q?

A)O 0

(B) O N (Correct Answer) (Chosen option)
CQyQ s

DO P

Question No.2

Who sits third to the left of S?
(A) O R (Chosen option)
B)O M

(©O N

(D) O P (Correct Answer)

Question No.3

Who sits at the fifth position from the left end of the row?
A)O M

B)O N
(C) O O (Correct Answer)
(D) © Q(Chosen option)

Question No.4

A girl is facing North-West direction. If she turns 72 degrees in clockwise direction and
63 degrees in the same direction, which direction will she face now?

(A) O South

(B) O East (Correct Answer) (Chosen option)

(C) O North

(D) O West

Question No.5

Find the next number in the series.
1,11,37,155,613,2

(A) O 2475

(B) O 2460

(C) O 2745 (Correct Answer)
(D) © 2459 (Chosen option)

Question No.6

In a certain code language, if BLUE is coded as DOWH, then how is LAND coded in that
language?

(A) O NCQG
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